
3/8 x 2" Socket Head Bolt

3/8" Washer

Leveler
Right Leg

Corner Unit Assembly Instructions
The Frame is assembled according to the rendering above.
3/8" X 2" socket head bolts and 3/8" washers secure the rails to the Legs and to the Corner Post.
When the frame is assembled adjust the glides so that the unit sit flat on the floor.
The Seat Shells are attached to the rail with 1 3/8" Wafer head bolts, 1/4" Nylocks and 1/4" Washers.
The Corner Table Top is aligned with the pilot holes to the Corner Post and secured with (x13) #10 - 1" Pan Head screws.

Left Leg

1/4" Nylock Nut

1/4" Washer

#10 - 1" Pan Head Screw

1 3/8" Wafer Head Bolt
Seat Shell

Corner Table

Corner Post

Seating Rail

Front Back

The mounting holes on the 
legs are closer to the front.

Right Leg

The Legs are side specific.
Please see the detail above.

A A

B B

2

2

1

1

DO NOT SCALE DRAWING

Economy Corner Unit 
ASSEMBLY EXPLODED

SHEET 1 OF 1

UNLESS OTHERWISE SPECIFIED:

SCALE: 1:32

REVDWG.  NO.

DATE

COMMENTS:

DRAWN

MATERIAL

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
High Mark Manufacturing. ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
High Mark Manufacturing IS 
PROHIBITED.

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL   1/16
ANGULAR:   1
TWO PLACE DECIMAL     .03
THREE PLACE DECIMAL   .005

P.O. Box 212  Johnstown, Co. 80534
970.587.9044              highmarkmanufacturing.com6/22/2022


	Sheet1
	Drawing View1
	Drawing View2


